
Isom(Tn) for M an aspherical
manifold

papers of farb , Weinberger, Avramidi
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Farb-Weinberger -- what condition
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Pf of Thml

I = Isom ( Tr) Lie group (possibly with

Infante component)
Myer - Steen rood : I acts properly on NT

.

⑤ Z = Them)
⑤ E I id comport
Ion T = :
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Step To has no compact factor
steps NT (Io is contractible
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Step Io / To is compact
Solh) - bundle

I ~ Frein) free
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µ compact 8 discrete
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¥ : Io has no compact factor .

g. i invariant IM] to Etlnfcm; 2)
⇒ qi can see the din of

aspherical manifolds
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Step 3 : NTI Io vs contractible

Oliver 's Tbm : G aopaot A X

X B contractible ⇒ X/G is contractible

32 out properly ✓ - II
.
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.
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Io semisimple . ⇒ 7=13×7/13
-

F → M-713 → M = Bx F

fmikanter
If Io is so ⇒ T = To x Type

pf . Out (2) = finite
as a product!-

'→ F. → T → He -n &
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→ Out tho) trivial

①p.TK.→ Outta) trivial

② Htt. > UID - o
Yun fourteenth.
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Tt ? has no solvablenormal subsp ⇒ Io
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